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OIX| Q010| B4
« Z HIE -E-éi.g.* (Total Cost Comparison Method)
o &R 7| (Breakeven Point Analysis Method)
o SAY (Center of Gravity Method)
o =S H|-IM (Transportation Method)

2E Q010| 24
o QOIMMM (Factor Rating Method)

o HEl2-2£& B (Brown-Gibson Method)
 Decision Tree Approach



HI2 A (Total Cost Comparison Method)

=
o

1)

Minimum Total Cost

@)
= EEELRERIE
=K 5
Kil = lEloo9o o~ WMo
% T [888R"283
ol oF |IflY ok
o0
E=] E
Ki0 =
i1y o0
ol =l =<
<0 S88K1¥Y8]%|3
Kio 4 EPS 3= =YK
~J n3/ — LN
..._m_o____ gl
L 1o S
Ws 5
= OF ol
Ry =
o _- oo _
.q._.uo%v .n._nw_ uﬂ___uuuuuuuuuu_.__”_ﬂn
<l S 2

zo <k - K OF M A <F 40
e1= 2 DEIRD a0 oo <k =
%0 A = =
ol &= —




2) &R | =™ (Breakeven Point Analysis Method)
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3) =S HI= Y (Transportation Method)
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SEAXE XY DE &2 B2 X =0l
0| wEm 242) | BFE | W@ mEE | EE=SE
From T T X 3 0005iS)
288 286 282 298 324
A 30 16 46
289 305 301 295 307
B(2] 2 20
297 287 291 323 319
CI3] .8 . 3 iy
302 302 297 264 293
D(4) . ] ”0
*QY/F
(000gtgn | 3O 18 20 15 120

Min. Z = 3 Cjj Xij

= 288 X171 + 286 X1z + ... + 293 X45 = 34,875(H)

El', X]'j .

SZilM =X j & k=
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M|n. Z = C11X11 + ...+ C']XU + ... + Cmnan
HiefxA

(i) Z4 3aX° a5 M2
X111+ ...+ X1j+ ...+ X1In<S1
X.i1 + ...+ Xijj+ ... + Xin £ Si
X.ml + ...+ Xmj + ... + Xmn < Sm
(i) 242X =& M
X11+ ...+ Xil +..+ Xml =Dl
X.1j + ...+ Xij + ... + Xmj = Dj
X.1n + ...+ Xin + ... + Xmn = Dn

(iii) Zt x=QXI° =% M

Xij >=0
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4) ZAMY (Center of Gravity Method)

QNN = &1, EFNEO| YNl B

HXIOl YUXIE LIEHHE XISE 0120101 XHE (xi, yi) £

o
=
|

A) EXIZHXZRHO 2E5F(Q)0]l s2LE [ a9 44H
2xi i
X =— y=—
B) XIZEXIZFHI 5 (Q)0| TE I S XtH
X = 2 Qi y = 2yiQi xi: 29Xl i9 x XH
2 Qi 2 Qi yi: 29Xl i 9 y XH
Qi: EHXl i 29| 25Y
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=N x ZHH y X5 Q%
N 127 38 500
24t 129 34 100
oS 126 35 200
3 128 36 300
SHAI 510 143 1100

_ 2xiQi _2yiQi
X = S 127.3 y = S0 - 36.5




5) & QO EFAMJ|H - QOIHAY (Factor Rating Method)
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- 2t [HQHOI [HD UXIQOIE WA 20 - £y (0K ~1008)
L2 ATIQOIO] EH MF L AMAXI B : 5/=3 W/Fj

oA oA o
%IIIPLQ(J) JI‘%X' E!I-III_I AI-IA l:l.1I-III_I BI-IA l:l.1I-III_I CI-IA
o a a'T o a a T o a aT
HIHH 28 d 0.30 85 22.5 70 21.0 75 22.5
LS89 254 0.24 88 21.1 85 20.4 80 19.2
=8 2 0lyx 0.20 83 16.6 70 14.0 75 15.0
AlE 28y 0.15 75 11.3 90 13.5 80 12.0
XIAIR] EiE 0.05 90 4.5 60 3.0 85 4.3
ME=12 P2 0.06 75 4.5 80 4.8 85 5.1
e A 1.00 80.5 76.7 78.1
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